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𝒏𝒏!

𝒏
𝒏! = 𝒏 ∙ (𝒏 − 𝟏) ∙ (𝒏 − 𝟐) ∙ … … … ∙ 𝟐 ∙ 𝟏

  𝟓! = 𝟓 ∙ 𝟒 ∙ 𝟑 ∙ 𝟐 ∙ 𝟏 = 𝟏𝟐𝟎
 

0! = 1 

𝒏𝒓𝟏

𝒓𝟐
𝒏!

𝒓𝟏! ∙ 𝒓𝟐! ∙ 𝒓𝟑! ∙…… ∙𝒓𝒌! 

 

𝟕!
𝟑! ∙𝟐!  

= 𝟕∙𝟔∙𝟓 ∙𝟒∙𝟑!
𝟑! ∙𝟐!

=  𝟐𝟏𝟎
𝟐

= 𝟏𝟎𝟓

𝟏
𝟏𝟎𝟓

 

𝒏𝒓𝑷𝒏 𝒓

𝑷𝒏 𝒓 = 𝒏!
(𝒏−𝒓)!

𝑷𝟔 𝟒 = 𝟔!
(𝟔−𝟒)!

= 𝟔!
𝟐!

= 𝟔∙𝟓 ∙𝟒∙𝟑∙𝟐!
𝟐!

= 𝟔 ∙ 𝟓 ∙ 𝟒 ∙ 𝟑 = 𝟑𝟔𝟎 

 

https://drive.google.com/file/d/1Fb2BTbYpiV8NyPO0TuiGz8DoBCo1qb6d/view?usp=drivesdk
https://youtu.be/VDz0ambev2Y
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𝒏
𝒏!
𝒏  

= 𝒏∙(𝒏−𝟏)!
𝒏

= (𝒏 − 𝟏)!

𝒏

𝒏!

(𝟒 − 𝟏)! = 𝟑! = 𝟔

 𝟕!
𝟔!
𝟕!

= 𝟔!
𝟕∙𝟔!

= 𝟏
𝟕

 

… … … … … … … … … … … … … … … 𝑪𝒏 𝒓 =
𝒏!

𝒓! ∙ (𝒏 − 𝒓)!

𝒏𝒓𝑪𝒏 𝒓

 𝑪𝟗 𝟔 = 𝟗!
𝟔!∙(𝟗−𝟔)!

= 𝟗!
𝟔!∙𝟑!

= 𝟗∙𝟖 ∙𝟕∙𝟔!
𝟔!∙𝟑!

= 𝟓𝟎𝟒
𝟔

= 𝟖𝟒

 

https://youtu.be/gxBE62w3iZY

